Soustraction Avec Des Zéros (1)

1000
- 378

1000
- 660

1000
-10

1000
- 523

1000
- 373

1000
- 540

1000
- 157

Calculez la différence.

1000 1000
-216 - 338
1000 1000
- 949 - 686
1000 1000
-115 -451
1000 1000
- 310 - 203
1000 1000
-512 - 498
1000 1000
-911 - 380
1000 1000
- 866 -512

1000
- 759

1000
- 214

1000
- 406

1000
- 533

1000
- 464

1000
- 222

1000
- 607
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Soustraction Avec Des Zeéros (I) Réponses

Calculez la différence.

1000 1000 1000 1000
- 378 -216 - 338 - 759
622 784 662 241
1000 1000 1000 1000
- 660 - 949 - 686 -214
340 51 314 786
1000 1000 1000 1000
-10 -115 -451 - 406
990 885 549 594
1000 1000 1000 1000
-523 - 310 - 203 - 533
477 690 797 467
1000 1000 1000 1000
- 373 -512 - 498 - 464
627 488 502 536
1000 1000 1000 1000
- 540 -911 - 380 - 222
460 89 620 778
1000 1000 1000 1000
- 157 - 866 -512 - 607
843 134 488 393
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